
1 ученик:
 4*(3+5)= 4*8=32     

2 ученик:
  4*(3+5)=4*3+4*5 =32 



Решите примеры

 82 * 5 =
 15 * 3 =
 37 * 25 = 



37 * 25 = 



Тема урока:
«Умножение 

двузначного числа на 
двузначное»



37*25= 37*(20+5)=37*20+37*5=

Ответ:925



Проверка решения:
    42                  
*  23
  126
+84
  966

    25                  
*  25
  125
+50
  625



Проверка решение 
задач:

1 вариант
     28                  
 *  24
   112
 +56
   672

 2 вариант
    25                  
*  32
    50
+75
  800


